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Ordinary Level 2011 SQ 2
Ordinary Level 2011 Q 7 (c) Keynes favored Government involvement/participation in an economy. Do you agree with Keynes? Outline one reason for your answer.

	

	

	

	

	



Higher Level 2011 SQ 2




Higher Level 2010 SQ 3

Higher Level 2008 SQ 5
Higher Level 2007 Q 4 (a) Explain the following 
Free Enterprise (Laissez-faire)
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Command Economy (Central Planning)
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(b) (i) “The Irish economy can be described as a Mixed Economy”. Outline four examples of economic activity in the Irish economy to support this view. 
	1.

	

	

	2.

	

	

	3.

	

	

	4.

	








(b) (ii) Do you consider that the Irish economy is moving towards more Free Enterprise or towards more Central Planning in recent years? Choose either & support you answer with examples. 
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